MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 1

Unofficial Results Registered Voters 3297 of 7631 = 43.21% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted 3.292

United States Representative, District No. 1

ı	Precincts			Voters	
Counted	Total	Percent	:	Registered	
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting			Total
Nathaniel Moran	REP	58	36.25%	1,363	81.42%	1,109	77.55%	2,5	30	77.51%
Jrmar (JJ) Jefferson	DEM	102	63.75%	311	18.58%	321	22.45%	7	34	22,49%
	Cast Votes:	160	100.00%	1,674	100.00%	1,430	100.00%	3,2	64	100.00%
	Undervotes:	2		12		19			33	
	Overvotes:	0		0		0			0	
Rejected	d write-in votes:	0		0		0			0	
Unresolved	d write-in votes:	0		0		0			0	

Governor

	-	recincts			Voters	
1	Counted	Total	€ 1	Ballots	Registered	Percent
	10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Early	y Voting	Election Da	y Voting		Total
Greg Abbott	REP	61	37.89%	1,362	80.93%	1,128	78.01%	2,551	77.54%
Beto O'Rourke	DEM	100	62.11%	298	17.71%	296	20.47%	694	21.09%
Mark Tippetts	LIB	0	0.00%	19	1.13%	15	1.04%	34	1.03%
Delilah Barrios	GRN	0	0.00%	3	0.18%	7	0.48%	10	0.30%
Jacqueline Abernathy (W)		0	0.00%	1	0.06%	. 0	0.00%	1	0.03%
	Cast Votes:	161	100.00%	1,683	100.00%	1,446	100.00%	3,290	100.00%
	Undervotes:	0		3		3		6	
	Overvotes:	1		0		0		1.	
Reject	ted write-in votes:	0		0		0		ō	
Unresolv	ed write-in votes:	0		0		0		0	

MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 2

Unofficial Results

Registered Voters
3297 of 7631 = 43.21%

Precincts Reporting
10 of 10 = 100.00%

Paper Sheets Counted

Lieutenant Governor

F	recincts			Voters	
Counted		Percent	Ballots	Registered	
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
Dan Patrick	REP	57	35.63%	1,333	79.77%	1,106	77.13%	2,496	76.45%
Mike Collier	DEM	103	64.38%	308	18.43%	302	21.06%	713	21.84%
Shanna Steele	LIB	0	0.00%	30	1.80%	26	1.81%	56	1.72%
	Cast Votes:	160	100.00%	1,671	100.00%	1,434	100.00%	3,265	100.00%
	Undervotes:	0		15		15		30	
	Overvotes:	2		0		0		2	
Re	jected write-in votes:	0		0		0		0	
Unre	solved write-in votes:	0		0		0		0	

Attorney General

1	recincts	.		Voters	
Counted		Percent	Ballots	Registered	
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Early	y Voting	Election Da	y Voting		Total
Ken Paxton	REP	56	35.00%	1,331	79.42%	1,110	77.30%	2,497	76.31%
Rochelle Mercedes Garza	DEM	103	64.38%	314	18.74%	302	21.03%	719	21.97%
Mark Ash	LIB	1	0.63%	31	1.85%	24	1.67%	56	1.71%
	Cast Votes:	160	100.00%	1,676	100.00%	1,436	100.00%	3,272	100.00%
	Undervotes:	1		10		13		24	
	Overvotes:	1		0		0		1	
Re	jected write-in votes:	0		0		0		0	
Unres	solved write-in votes:	0		0		0		0	

MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 3

Unofficial Results
Registered Voters
3297 of 7631 = 43.21%
Precincts Reporting
10 of 10 = 100.00%
Paper Sheets Counted
3.292

Comptroller of Public Accounts

ı	recincts			Voters			
		Percent	Ballots	Ballots Registered Perc			
10	10	100.00%	3,297	7,631	43.21%		

Choice		Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
Glenn Hegar		REP	58	36.02%	1,339	80.47%	1,107	77.52%	2,504	76.98%
Janet T. Dudding		DEM	101	62.73%	306	18.39%	304	21.29%	711	21.86%
V. Alonzo Echevarria-Garza		LIB	2	1.24%	19	1.14%	17	1.19%	38	1.17%
		Cast Votes:	161	100.00%	1,664	100.00%	1,428	100.00%	3,253	100.00%
	ı	Undervotes:	0		22		21		43	
		Overvotes:	1		0		0		1.	
	Rejected wr	rite-in votes:	0		0		0		ď	
ι	Jnresolved wr	rite-in votes:	0		0		0		.0	

Commissioner of the General Land Office

	Precincts			Voters	
Counted	1	Percent		Registered	
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
Dawn Buckingham	REP	55	34.16%	1,344	80.82%	1,102	77.39%	2,501	77.00%
Jay Kleberg	DEM	105	65.22%	304	18.28%	305	21.42%	714	21.98%
Alfred Molison, Jr.	GRN	0	0.00%	15	0.90%	17	1.19%	32	0.99%
Carrie Evelyn Menger (W)		. 1	0.62%	0	0.00%	o	0.00%	1	0.03%
A Principle of the Prin	Cast Votes:	161	100.00%	1,663	100.00%	1,424	100.00%	3,248	100.00%
	Undervotes:	0		23		25		48	
	Overvotes:	1		0		0		1	
Reje	ected write-in votes:	0		0		0		0	
Unresc	olved write-in votes:	0		0		0		0	

MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 4

Unofficial Results

Registered Voters 3297 of 7631 = 43.21%

Precincts Reporting 10 of 10 = 100.00%

Paper Sheets Counted

3.29

Commissioner of Agriculture

j	recincts	·		Voters	
Counted		Percent	Ballots	Registered	Percent
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
Sid Miller	REP	56	34.57%	1,351	81.04%	1,108	77.70%	2,515	77.27%
Susan Hays	DEM	106	65.43%	316	18.96%	318	22.30%	740	22.73%
	Cast Votes:	162	100.00%	1,667	100.00%	1,426	100.00%	3,255	100.00%
	Undervotes:	0		19		23		42	
	Overvotes:	0		0		0		0	
	Rejected write-in votes:	0		0		0		0	
L	Inresolved write-in votes:	0		0		0		0	

Railroad Commissioner

1	Precincts			Voters	
Counted		Percent	Ballots	Registered	Percent
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Day	y Voting		Tota
Wayne Christian	REP	60	37.27%	1,334	80.02%	1,104	77.20%	2,498	76.67%
Luke Warford	DEM	101	62.73%	293	17.58%	297	20.77%	691	21,21%
Jaime Andres Diez	LIB	0	0.00%	30	1.80%	17	1.19%	47	1.44%
Hunter Wayne Crow	GRN	. 0	0.00%	10	0.60%	12	0.84%	22	0.68%
	Cast Votes:	161	100.00%	1,667	100.00%	1,430	100.00%	3,258	100.00%
	Undervotes:	0		19		19		38	
	Overvotes:	1		0		0		1	
	Rejected write-in votes:	0		0		0		0	
	Unresolved write-in votes:	0		0		0		0	

MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 5

Unofficial Results Registered Voters 3297 of 7631 = 43.21% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

Justice, Supreme Court, Place 3

	recincts			Voters	
Counted	Total	Percent	Ballots	Registered	Percent
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
Debra Lehrmann	REP	57	35.63%	1,339	80.04%	1,093	76.81%	2,489	76.44%
Erin A. Nowell	DEM	103	64.38%	301	17.99%	303	21.29%	707	21.71%
Thomas Edward Oxford	LIB	0	0.00%	33	1.97%	27	1.90%	60	1.84%
	Cast Votes:	160	100.00%	1,673	100.00%	1,423	100.00%	3,256	100.00%
	Undervotes:	0		13		26		39	
	Overvotes:	2		0		0		2	
	Rejected write-in votes:	0		0		0		C	l delle
	Unresolved write-in votes:	0		0		0		C	1

Justice, Supreme Court, Place 5

	Precincts			Voters	, (1) (1) (1) (1) (1) (1) (1) (1) (1) (1)
Counted	Total	Percent	Ballots	Registered	Percent
10	10	100.00%	3,297	7,631	43.21%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
Rebeca Huddle	REP	58	35.80%	1,358	81.32%	1,107	77.74%	2,523	77.49%
Amanda Reichek	DEM	104	64.20%	312	18.68%	317	22.26%	733	22.51%
	Cast Votes:	162	100.00%	1,670	100.00%	1,424	100.00%	3,256	100.00%
	Undervotes:	0		16		25		41	
	Overvotes:	0		0		0		C	ı
	Rejected write-in votes:	0		0		0		C	1
	Unresolved write-in votes:	0		0		0		C	1

MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 6

Unofficial Results

Registered Voters
3297 of 7631 = 43.21%

Precincts Reporting
10 of 10 = 100.00%

Paper Sheets Counted

Justice, Supreme Court, Place 9

F	recincts	:		Voters	
Counted	Total	Percent	Ballots	Registered	Percent
10	10	100.00%	3,297	7,631	43.21%

Choice		Party	Absente	e Voting	Earl	y Voting	Elec	tion Da	y Voting		Total
Evan Young		REP	57	35.40%	1,346	80.99%		1,110	78.22%	2,513	77.51%
Julia Maldonado		DEM	104	64.60%	316	19.01%		309	21.78%	729	22,49%
		Cast Votes:	161	100.00%	1,662	100.00%		1,419	100.00%	3,242	100.00%
		Undervotes:	1		24			30		55	
		Overvotes:	0		0			0		0	
	Rejected	l write-in votes:	0		0			0		0	
	Unresolved	l write-in votes:	0		0			0		0	

Judge, Court of Criminal Appeals, Place 5

ı	Precincts	ı		Voters	:
		Percent	1	Registered	
10		100.00%	3,297	7,631	43.21%

Choice		Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Tota
Scott Walker		REP	56	35.00%	1,351	81.43%	1,113	78.05%	2,520	77.66%
Dana Huffman		DEM	104	65.00%	308	18.57%	313	21.95%	72!	5 22.34%
		Cast Votes:	160	100.00%	1,659	100.00%	1,426	100.00%	3,24	5 100.00%
		Undervotes:	1		27		23		5:	1
		Overvotes:	1		0		0			1
	Rejected	write-in votes:	0		0		0		1	0
	Unresolved	write-in votes:	0		0		0		ı	0

MARION COUNTY, TEXAS

GENERAL ELECTION

11/8/2022

Page 7

Unofficial Results

Registered Voters
3297 of 7631 = 43.21%

Precincts Reporting
10 of 10 = 100.00%

Paper Sheets Counted
3.292

Judge, Court of Criminal Appeals, Place 6

	Precincts		Voters				
Counted		Percent		Registered			
10	10	100.00%	3,297	7,631	43.21%		

Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting	Total
REP	57	35.63%	1,354	81.52%	1,109	78.04%	2,520 77.73
DEM	103	64.38%	307	18.48%	312	21.96%	722 22.27
Cast Votes:	160	100.00%	1,661	100.00%	1,421	100.00%	3,242 100.00
Undervotes:	1		25		28		.54
Overvotes:	1		0		0		1
cted write-in votes:	0		0		0		0
lved write-in votes:	0		0		0		Ó
	REP DEM Cast Votes: Undervotes:	REP 57 DEM 103 Cast Votes: 160 Undervotes: 1 Overvotes: 1 cted write-in votes: 0	REP 57 35.63% DEM 103 64.38% Cast Votes: 160 100.00% Undervotes: 1 Overvotes: 1 cted write-in votes: 0 Overvotes: 0	Party Absentee Voting Early REP 57 35.63% 1,354 DEM 103 64.38% 307 Cast Votes: 160 100.00% 1,661 Undervotes: 1 25 Overvotes: 1 0 cted write-in votes: 0 0	Party Absentee Voting Early Voting REP 57 35.63% 1,354 81,52% DEM 103 64.38% 307 18.48% Cast Votes: 160 100.00% 1,661 100.00% Undervotes: 1 25 Overvotes: 1 0 cted write-in votes: 0 0	Party Absentee Voting Early Voting Election Day REP 57 35.63% 1,354 81.52% 1,109 DEM 103 64.38% 307 18.48% 312 Cast Votes: 160 100.00% 1,661 100.00% 1,421 Undervotes: 1 25 28 Overvotes: 1 0 0 cted write-in votes: 0 0 0	Party Absentee Voting Early Voting Election Day Voting REP 57 35.63% 1,354 81,52% 1,109 78.04% DEM 103 64.38% 307 18.48% 312 21.96% Cast Votes: 160 100.00% 1,661 100.00% 1,421 100.00% Undervotes: 1 25 28 Overvotes: 1 0 0 cted write-in votes: 0 0 0

^{***} End of report ***